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QUESTION 1

A joint venture between two companies results in a fully functional WLAN Aruba solution. The network administrator
uses the following script to integrate the WLAN solution with two radius servers, radius1 and radius2. 

While all users authenticate with username@domainname.com type of credentials, radius1 has user accounts with the
domain name portion. Which additional configuration is required to authenticate corp1.com users with radius1 and corp2
users with radius2? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: A 

 

 

QUESTION 2

Refer to the exhibit. 
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A network administrator adds a Mobility Controller (MC) in the /mm level and notices that the device does not show up
in the managed networks hierarchy. The network administrator accesses the CLI. executes the show switches
command, and obtains the output shown in the exhibit. 

What is the reason that the MC does not appear as a managed device in the hierarchy? 

A. The network administrator added the device using the wrong Pre-Shared Key (PSK). 

B. The network administrator has not moved the device into a group yet. 

C. The digital certificate of the MC is not trusted by the MM. 

D. The IP address of the MC does not match the one that was defined in the MM. 

Correct Answer: D 

 

QUESTION 3

A company with 50 small coffee shops in a single country requires a single mobility solution that solves connectivity
needs at both the main office and branch locations. Coffee shops must be provisioned with local WiFi internet access for
customers. 

The shops must also have a private WLAN that offers communication to resources at the main office to upload sales,
request supplies through a computer system, and make phone calls if needed. In order to simplify network operations,
network devices at the coffee shops should be cloud managed. 

Which technologies best meet the company needs at the lowest cost? 

A. IAP VPN 

B. SD-Branch 

C. Activate with RAPs 

D. BOC with CAPs 

Correct Answer: B 

 

QUESTION 4

Refer to the exhibit. 
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An organization provides WiFi access through a corporate SSID with an Aruba Mobility Master (MM) - Mobility
Controller (MC) network that includes PEF functions. The organization wants to have a single firewall policy configured
and applied 

to the employee role. 

This policy must allow users to reach Web, FTP, and DNS services, as shown in the exhibit. Other services should be
exclusive to other roles. The client NICs should receive IP settings dynamically. 

Which policy design meets the organization\\'s requirements while minimizing the number of policy rules? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: C 

 

 

QUESTION 5

Refer to the exhibits. 
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A user reports slow connectivity to a network administrator when connecting to AP-Garden and suggests that there
might be a problem with the WLAN. The user\\'s device supports 802.11n in the 2.4 GHz band. The network
administrator finds the user in the Mobility Master (MM) and reviews the output shown in the exhibit. 

What can the network administrator conclude after analyzing the data? 

A. 2.4Ghz band is currently congested, therefore a NIC upgrade to 802.11ac or higher is recommended so the user can
move to 5Ghz. 

B. Channel usage is high and though this device has high speed the overall client rate is low on AP-Garden, there could
be a few clients monopolizing the airtime on both bands at low speeds. 

C. User\\'s SNR value over time is lower than recommended, therefore he should either get closer to the Access Point
or increase the transmit power. 

D. 365s are low cost outdoor APs recommended for coverage design only. AP-Garden currently has more clients than
recommended and is getting congested. 

Correct Answer: D 

 

QUESTION 6

Refer to the exhibit. 

A network administrator wants to allow contractors to access the WLAN named EmployeesNet. In order to restrict
network access, the network administrator wants to assign this category of users to the contractor user role. To do this,
the 

network administrator configures ClearPass in a way that it returns the Aruba-User-Role with the contractor value. 

When testing the solution, the network administrator receives the wrong role. 

What should the network administrator do to assign the contractor role to contractor users without affecting any other
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role assignment? 

A. Check the Download role from the CPPM option in the AAA profile. 

B. Set contractor as the default role in the AAA profile. 

C. Create Contractor firewall role in the M. 

D. Create server deviation rules in the server group. 

Correct Answer: A 

Reference: https://www.arubanetworks.com/techdocs/ClearPass/6.7/Aruba_DeployGd_HTML/Content/Aruba%20Contro
ller%20Configuration/AAA_profile_adding.htm 

 

QUESTION 7

Refer to the exhibit. 

A network administrator deploys a Mobility Master (MM) - Mobility Controller (MC) network with Aps in different
locations. Users in one of the locations report that the WiFi network works fine for several hours, and then they are
suddenly 

disconnected. This symptom may happen at any time, up to three times every day, and lasts no more than two minutes. 

After some research, the network administrator logs into the MM and reviews the output shown in the exhibit. 

Based on this information, what is the most likely reason users get disconnected? 

A. Adaptive Radio Management is reacting to RF events. 

B. AirMatch is applying a scheduled optimization solution. 

C. Users in the 2.4 GHz band are being affected by high interference. 

D. AirMatch is reacting to non-scheduled RF events. 
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Correct Answer: C 

 

QUESTION 8

Refer to the exhibits. 
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A user reports slow response time to a network administrator and suggests that there might be a problem with the
WLAN. The user\\'s phone supports 802.11ac in the 5 GHz band. The network administrator finds the user in the
Mobility Master (MM) and reviews the output shown in the exhibit. 

What can the network administrator conclude after analyzing the data? 

A. The low SNR forces the client to back off to low MCs, therefore speed is low and retransmits are high. 

B. Client health is poor, but SNR is fair. TX power must be increased in both the client and the AP. 

C. Since SNR is good, then the high retransmit rate must be due a hidden node scenario or high interference. 

D. High Successful frame count and high Max Speed is an indication of a healthy client. Connection will improve at any
time. 

Correct Answer: D 

 

QUESTION 9

Refer to the exhibit. 
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A network administrator has recently enabled WMM on the VAP\\'s SSID profile and enabled UCC Skype4B ALG at the
Mobility Master level. During testing, some voice and video conference calls were made, and it was concluded that the
call quality has dramatically improved. However, end to end information isn\\'t displayed in the call\\'s details. Also,
Skype4B app-sharing\\'s performance is poor at times. 

What must the administrator do next in order to enable end to end call visibility and QoS correction to app-sharing
service? 

A. Deploy the SDN API Software in the Skype4B Solution and point to the MM. 

B. Increase the app-sharing DSCP value in the Skype4B ALG profile. 

C. Enable UCC monitoring on the "default-controller" mgmt.-server profile. 

D. Enable the App-sharing ALG profile at both MM and MD hierarchy levels. 

Correct Answer: D 

 

QUESTION 10

An organization has several RAPs at different locations that broadcast two SSIDs. The internet-only SSID is in
bridge/always mode, and the corporate SSID is in split-tunneling/standard mode. The network administrator deploys 10
more 

RAPs in different locations. 

Users can successfully connect to the corporate SSID that is propagated by a RAP at a remote location. However, they
report that it takes too long to access public internet web sites. 

What is one part of the configuration that should be checked by the network administrator to verify this RAP
deployment? 

A. User roles policies 

B. IP pool 

C. Operating mode 

D. Assigned VLAN 
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Correct Answer: A 
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